

ADDITION การบวกจำนวนเต็ม 2

จงหาผลบวกจำนวนเต็มต่อไปนี้

①

$1 + (-2) = \underline{\hspace{2cm}}$

$6 + (-5) = \underline{\hspace{2cm}}$

$6 + (-2) = \underline{\hspace{2cm}}$

$1 + (-9) = \underline{\hspace{2cm}}$

$12 + (-4) = \underline{\hspace{2cm}}$

$3 + (-5) = \underline{\hspace{2cm}}$

$5 + (-9) = \underline{\hspace{2cm}}$

$3 + (-7) = \underline{\hspace{2cm}}$

$3 + (-3) = \underline{\hspace{2cm}}$

$4 + (-9) = \underline{\hspace{2cm}}$

$0 + (-1) = \underline{\hspace{2cm}}$

$1 + (-12) = \underline{\hspace{2cm}}$

$6 + (-6) = \underline{\hspace{2cm}}$

$8 + (-7) = \underline{\hspace{2cm}}$

$9 + (-2) = \underline{\hspace{2cm}}$

15

②

$11 + (-2) = \underline{\hspace{2cm}}$

$2 + (-4) = \underline{\hspace{2cm}}$

$4 + (-12) = \underline{\hspace{2cm}}$

$11 + (-9) = \underline{\hspace{2cm}}$

$2 + (-4) = \underline{\hspace{2cm}}$

$2 + (-8) = \underline{\hspace{2cm}}$

$5 + (-2) = \underline{\hspace{2cm}}$

$4 + (-9) = \underline{\hspace{2cm}}$

$2 + (-1) = \underline{\hspace{2cm}}$

$2 + (-6) = \underline{\hspace{2cm}}$

$1 + (-10) = \underline{\hspace{2cm}}$

$12 + (-4) = \underline{\hspace{2cm}}$

$3 + (-5) = \underline{\hspace{2cm}}$

$3 + (-9) = \underline{\hspace{2cm}}$

$9 + (-8) = \underline{\hspace{2cm}}$

15

③

$9 + (-9) = \underline{\hspace{2cm}}$

$8 + (-6) = \underline{\hspace{2cm}}$

$6 + (-9) = \underline{\hspace{2cm}}$

$11 + (-9) = \underline{\hspace{2cm}}$

$4 + (-8) = \underline{\hspace{2cm}}$

$4 + (-5) = \underline{\hspace{2cm}}$

$3 + (-10) = \underline{\hspace{2cm}}$

$4 + (-4) = \underline{\hspace{2cm}}$

$2 + (-12) = \underline{\hspace{2cm}}$

$9 + (-8) = \underline{\hspace{2cm}}$

$1 + (-10) = \underline{\hspace{2cm}}$

$11 + (-2) = \underline{\hspace{2cm}}$

$6 + (-9) = \underline{\hspace{2cm}}$

$8 + (-4) = \underline{\hspace{2cm}}$

$9 + (-5) = \underline{\hspace{2cm}}$

15